
Quick Release Steering Wheel Hub

READ BEFORE INSTALLATION
The use of any Rennline product is the sole responsibility of the end user. Rennline Inc. accepts no responsibility for 

warranty voids or damage resulting from the use of these products. Due to the varying location of wiring harnesses and 
other components, carefully inspect any area prior to drilling. All Rennline products are intended for off road use only and 

should be installed by a qualified automotive technician.

Check to make sure you have all parts listed prior to 
installation. If anything is missing contact us immediately.

P/N -  

Sparco, OMP and 
Momo with standard

6 bolt pattern

 

Order Online: WWW.RENNLINE.COM
EM Orders@rennline.com

PH 802.893.7366
FX 802.893.7311

Date        /      /   I18 & I19 07  18  14

(1) Hub Assembly
 (1) Male Section
 (1) Female section
 (1) Body
 (1) Body Cap
 (1) Spring  -  Century Spring P/N 3008
 (2) Pins - MC91595A182
 (4) M4 x 10 Socket Head Cap Screw - MC 92125A190
 (1) 1/4-20 x 3/8 Self Locking Set Screw - MC90251A535
 
(11) M5 x 12 Socket Head Cap Screw - MC 91294A210
(1)  S/S M5 x 12 Socket Head Cap Screw - MC 93395A304

Male Section Female Section

Steering Wheel (not included)Hub adaptor (not included)

1. Mount the Male Section to the Hub Adaptor using the supplied screws. With your front wheels straight, install the silver
screw at the top. This will be your top indicator when using your quick release.
2. Attach the Female Section to the Male Section
3. Mount your steering wheel to the Female Section using the supplied screws or the screws that came with your steering wheel.
Make sure that the wheel is straight when mounting.
4. Your installation is complete. To remove your wheel pull the female section toward the steering wheel and pull .
5. Test your quick disconnect several times to make sure it is properly engaging and disengaging. 
6. Enjoy your new Rennline Product.

Note: If there is any play in the mating section, simply back o� the set screw in the center of the female section. These are pre-tuned
before shipping, so no adjustment should be necessary.

INSPECTED


